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General English

Section Id : 152536301



Section Number : 1

Mandatory or Optional : Mandatory
Number of Questions : 21
Section Marks : 25

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Id : 1525369085 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No
Question Numbers : (1 to 5)

Directions (Q.No. 1 to 5) : Read the following passage and answer the questions that
follow.

Even when the government realises the importance of a plentiful supply of trees, it s difficult
for it to persuade the villager to see this. He wants wood to cook his food with; and he can
earn money by making charcoal or selling wood to the townsman. He is usually too lazy or
100 careless to plant and look after new trees. So. unless the government has a good
systemof control. or can educate the people. the forests slowly disappear.

Sub questions

Question Number : 1 Question Id : 1525369086 Display Question Number : Yes Is Question
Mandatory : No

The government finds it difficult to make the villager realise

Options :

1 » The mportance of food being cooked.

5 The value of trees

3 % The difficulty of cutting the forest

4 % The needs of the town dwellers



Question Number : 2 Question Id : 1525369087 Display Question Number : Yes Is Question
Mandatory : No
The villager makes charcoal
Options :
to brush the teeth

, x 1O help his neighbours

3 v 10 earn money

to pass the tune lavishly

Question Number : 3 Question Id : 1525369088 Display Question Number : Yes Is Question

Mandatory : No
The villager pays no heed to
Options :

rees

, % Charcoal

5 » broper cooking

neighbours

4, =



Question Number : 4 Question Id : 1525369089 Display Question Number : Yes Is Question
Mandatory : No

According to the passage the government should

Options :
ban making charcoal

punish the villager

3 % helps the townsmen

£ = C'. :|- .
4V regulate cutting down of trees

Question Number : 5 Question Id : 1525369090 Display Question Number : Yes Is Question
Mandatory : No

The synonym of the word “lazy’ 1s

Options:
Careful

5 Derelict

5, » Aftentive

4% Conscientious

Question Number : 6 Question Id : 1525369091 Display Question Number : Yes Is Question



Mandatory : No

The idiom “to fight tooth and nail” means
Options :

| » making every possible effort to win

, % 1O fight a loosing battle

to fight cowardly

to fight with a woman
4, %

Question Number : 7 Question Id : 1525369092 Display Question Number : Yes Is Question
Mandatory : No

[ saw aboy red hair. Fill in the blank with correct preposition.

Options :

Question Number : 8 Question Id : 1525369093 Display Question Number : Yes Is Question



Mandatory : No

An example for the Interrogative sentence is

Options :

He is a bad listener

What a surprise!

3 v When did you see him

Shunt the door

Question Number : 9 Question Id : 1525369094 Display Question Number : Yes Is Question
Mandatory : No

Pick out the most suitable word to complete the sentence.
is a person who walks is sleep.

Options :

| % Omuniscient

5 % Orientalist

Parasite

4 Sonmambulist



Question Number : 10 Question Id : 1525369095 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank with appropriate verb form.

I a letter a few mimutes ago.
Options :
- have received
5 o received
receive
will receive
4, %

Question Number : 11 Question Id : 1525369096 Display Question Number : Yes Is Question
Mandatory : No

Ramesh 18 an imgenious writer.
The meaning of the underlined word is

Options :

.« Door

mechanical

; » foolish

skillful

4. &



Question Number : 12 Question Id : 1525369097 Display Question Number : Yes Is Question
Mandatory : No

“When did you see him?” The sentence is
Options :

Interrogative

Imperative

Assertive

Exclamatory

Question Number : 13 Question Id : 1525369098 Display Question Number : Yes Is Question
Mandatory : No

‘Open the door”. The passive voice of the sentence is
Options :

The door be opened

Let the door be opened
2. %

The door was opened

The door is opened by someone
4, %



Question Number : 14 Question Id : 1525369099 Display Question Number : Yes Is Question
Mandatory : No

My mother always food for us.

Options :
Cook

is cooked

Cooking

Cooks

Question Number : 15 Question Id : 1525369100 Display Question Number : Yes Is Question
Mandatory : No

The teacher said, “What is you name?”. The reported speech of the sentence is

Options :

The teacher said that what my name is
1. %

The teacher asked me to tell my naime

The teacher asked me what my name was
3. ¢

The teacher enquired my name



Question Number : 16 Question Id : 1525369101 Display Question Number : Yes Is Question
Mandatory : No

If 1 you, I would not have committed this blunder.

Options :
was
1. %
are

were

4wis

Question Number : 17 Question Id : 1525369102 Display Question Number : Yes Is Question
Mandatory : No

If it rains, the game will be

Options:

Cancelling
1. %

Cancelled
2. %

3 % Cancels

Cancel



Question Number : 18 Question Id

Mandatory : No

What are you talking

Options:
o1
1. =
in
2. %
about
4 % upon

Question Number : 19 Question Id

Mandatory : No

: 1525369103 Display Question Number : Yes Is Question

? Fill in the blank.

: 1525369104 Display Question Number : Yes Is Question

He drove the car at sixty kilometers hour.

Options:

’I%ga

Question Number : 20 Question Id

: 1525369105 Display Question Number : Yes Is Question



Mandatory : No
Rama is cleverer than all other boys in the class. The positive degree statement of the
sentence s

Options :

No other boy in the class is as clever as Rama
1.4

Rama is the cleverest boy in the class

2. %

All other boys i the class are cleverer as Rama
3. %

No other boyin the class 1s cleverer than Rama
4. %

Question Number : 21 Question Id : 1525369106 Display Question Number : Yes Is Question
Mandatory : No

Identify the grammatically correct sentence.

Options :

One must love one’s parents

One must love his parents

Priya is more taller than her sister
3. %

She is my cousin sister
4. %



Question Number : 22 Question Id : 1525369107 Display Question Number : Yes Is Question
Mandatory : No

My mother goes to the Cinema Once 1n a blue moon. The underlined idiom means.

Options :

on a full moon day

an event that happens infrequently

2. %
L% OO the day of ellipse
once i a fortnight

Question Number : 23 Question Id : 1525369108 Display Question Number : Yes Is Question
Mandatory : No

The weather has been abominable all week.,

Options :

Pleasant

Cold

Hot

Unpleasant



Question Number : 24 Question Id : 1525369109 Display Question Number : Yes Is Question
Mandatory : No

My son was disobedient and so I punished him.
The simiple sentence for this sentence is
Options :

. » 1punished my son as he is very disobedient

My son received punishment and I found him disobedient
2. %

I punished my son for his disobedience
3.¥

My son’s punishment by me was due to his disobedient nature.
4. %

Question Number : 25 Question Id : 1525369110 Display Question Number : Yes Is Question
Mandatory : No

She met an accident. while she therod. Fill mthe blank.

Options :

had crossed

1S CI'OSSINE
2. % -

Was CI’DSSjllg
3.¢

4 » Crossed



General Knowledge

SectionId: 152536302
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 26 Question Id : 1525369111 Display Question Number : Yes Is Question
Mandatory : No

What 1s the full form of ABC as per the National Educational Policy-20207?
805 Jemgderso 2020 Herbo J H B D JBoHHw?
Options:

Academuc Basic Certificate

Doz DAGH IFPE S JHB2»

Ammmal Basic Certificate
DoNHBY T8 cs@.z:a N850

-

Annual Bank Certificate

L Q05888 g0l S J@daw

Academic Bank of Credit

Doer DAGH 2ol HBHE
4. .y [ )



Question Number : 27 Question Id : 1525369112 Display Question Number : Yes Is Question
Mandatory : No

The new name of ministry of Human Resources Development is
SR SRS ofRd Ho(8S, TP ETnk) SERES
Options:
Ministry of Higher Education
&3?6&5 A é:o@é; SR

1. %
Mimistry of Human Capital
SRR reRR oBS: oY
2. %
Mmustry of Education
- Doy oS T
Miunstry of Human Development
BDeRN @f,}aﬁe}& Do(HeEr =Y
4, % i *

Question Number : 28 Question Id : 1525369113 Display Question Number : Yes Is Question

Mandatory : No

Who among the following transformed the Shivaji and Ganapthi festivals into national
festivals?

Bod B A5 B2, Heaidds BT oK e o a8 drfyrth?

Options :

1.4



Bal Gangadhar Tilak

o0 KOs &o8

Veer Savarkar

DE ;%55
2. %
Swamu Dayananda Saraswathi
Yol alovhiinlela b elobel
3. A (=) L]
M G Rande
oo & BRG
4, %

Question Number : 29 Question Id : 1525369114 Display Question Number : Yes Is Question
Mandatory : No

‘Black Fungus’ 1s also called as
28 PoKR B @Y

Options :
Taemasis

Q5D
1. #

Mucor mycosis

S8 FoERT
2.

Cutaneous candidiasis

8R0S BobEaTLS
3. %



Blasto mycosis
2 DTS

e

Question Number : 30 Question Id : 1525369115 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is a Directive Principle relating to Education?

Bob0&® 58 DL Sowosodd eGBE Sr(go?

Options :

Article 40

40 35 xS
1. %

Article 42

42 &5 (D55
2. %

Article 45

45 3 P58
3.¢

Article 48
. 48 3 (PS8

Question Number : 31 Question Id : 1525369116 Display Question Number : Yes Is Question
Mandatory : No

Who 1s the author of * Anomalies in Law and Justice™?

“OmrndD 25 o wof '*v*"w Beiones a5%n?

Options :



Justice Ramana

=

53335 B3

1, %
Justice Raveendran
2235 8D D@SE
2. &
Ravi Sankar Prasad
50055 (SRS
3. %
Justice S. K. Kaul
238 095.3.8°5
4% ®

Question Number : 32 Question Id : 1525369117 Display Question Number : Yes Is Question
Mandatory : No

Which ofthe followmg Country is called as ‘Land of Midnight Sun’?
Bod 0&° D BeQ) “orof D NERT B85 ©R Denrdd?
Options :

Fmland

SRerol

Norway

-
O

2. ¢ ®

Tceland

Doerod



Sudan

SR

Question Number : 33 Question Id : 1525369118 Display Question Number : Yes Is Question
Mandatory : No

Which of the following state had more than 90 percent of schools online facility?

20X BODS Q T @mé‘ 90 T e 8T eags TG0 Lod?

Options:
Gujarat
oaoeS

Uttar Pradesh
aEBHRS

Kerala
el

4, &

Question Number : 34 Question Id : 1525369119 Display Question Number : Yes Is Question
Mandatory : No
Joseph Robinette Biden is

2D 6838 368

Options :



45™ president of U.S.A
45 S c50.05%. OrH

46™ President of U.S.A
46 3 . 95D S

2. ¥
A47™ President of U.S.A
- 47 S 050.0%5R. o Slajyeviab

48™ President of U.S.A
. 48 3 00.05%. 2 Slafyevlas

Question Number : 35 Question Id : 1525369120 Display Question Number : Yes Is Question
Mandatory : No
The World Population Day is celebrated on

$58 Sod& 85w (Dol amrye HT7E)H50 PHT &0

Options :
10 July
10, =8
1. % .
1% July
11, 22=8
2.¥ =

3. %



14™ July

14, 2@

10™ December
10, &2oxmb

4, #

Question Number : 36 Question Id : 1525369121 Display Question Number : Yes Is Question

Mandatory : No

The Central Information Cominission is a

Zol8 S KBS
Options :
Constitutional Body

ngcﬁ PRt Y

Statutory Body

w = e £y
T o [

obn

2. ¥

Neither Constitutional or Statutory

-

T&";Dﬁ DG =), TS DG ==
3. %

Central Bureau of Investigation Body

Sol8 HB8%5S Dorrism
4. %

Question Number : 37 Question Id : 1525369122 Display Question Number : Yes Is Question

Mandatory : No



How many ‘Sustainable Development Goals’ were introduced i September 20157
?\3?5035, 2015 %ou & IR TEE @ﬁ)é&% ool (Hoardom?

1

Options :

;w08

16

17
3.¥

18

Question Number : 38 Question Id : 1525369123 Display Question Number : Yes Is Question

Mandatory : No

Which of the following disease is not caused by Bacteria?

Bod =& & 2008 o EBdir s8ein Soth?

Options:
Tuberculosis
e Shern
1. % o
Tetamms
Rabbies
28
ot D
3.



Plague

} L
o

Question Number : 39 Question Id : 1525369124 Display Question Number : Yes Is Question
Mandatory : No

Total mumber of medals won by India in Tokyo Olyinpics 2021
ﬁf‘&f 2.D02Ey 2021 & 88850 RDDY Sngo Sz vogy

Options :
5

Question Number : 40 Question Id : 1525369125 Display Question Number : Yes Is Question
Mandatory : No

Presently the new name of Telugu Academy of A.P.
colBEBE T (EKaso Benth eED Ew¥) B8 B
Options:

Sanskrit Academy

Vo0, S ©oetidD



Andhra Pradesh Telugu Academy
SoBHEE Beoih o=E

Telugu and Sanskrit Academy

Sl 0b8ddw» E&Dﬁ&ﬁ DlcaletAv
=2

Telugu and Sahitya Academy

Benlh o8k %E’?é& olestnt ¥

4, %

Teaching Aptitude
Section Id : 152536303
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10
Section Marks : 10

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 41 Question Id : 1525369126 Display Question Number : Yes Is Question
Mandatory : No

The main aim of teaching is to
5288 Tk (Hee8 B8

Options :

Give notes to the students

Sjm?fgafa E’Eé.i STl



Prepare the students to pass in the examinations
&m&?ﬁg@éo ﬁég_&:ﬁs ageﬁg@rﬁé@ &S TEodn

2. %

Prepare the students for jobs

&)m;iﬁg@?ﬁa ﬁﬁsérm: B8 SoirdTodots
3. %

Develop thinking ability in the students

Do’ udtSod2 @ﬁéé& S fovkel
4. ¢ ve = @

Question Number : 42 Question Id : 1525369127 Display Question Number : Yes Is Question

Mandatory : No

To reduce absenteeism in the class. the teacher.
EtetatrTaloaton oo fozedh Shotherd aarpydin

Options:

Should teach effectively

B8 Sodore S8omd
1.¢ <

Should ignore absenteeism
fioeesdof HBRBoSER SEo

Should punish students
Qoo E%‘_‘EJ& BEodto

=

Should mform parents

$DSohed BDcHEDE0
4, ®



Question Number : 43 Question Id : 1525369128 Display Question Number : Yes Is Question
Mandatory : No

Ifa student is quarrelsome in the class, the teacher should
= &)mﬁgg S8KEST ﬁ&;”r%u@% ﬁ%*m;&mﬁ:

Options :

Inform Police
SEDe% BOHEHIE%

Inform the head master
S Err ol BOSEDRITH

Gives suitable counseling

. o308 HBGEE Sool¥o TAHSBEH

Gives punishment
o8& 8805585

Question Number : 44 Question Id : 1525369129 Display Question Number : Yes Is Question
Mandatory : No

Apt learner is one who
FrerBS ©=B5HE JNBoE

Options :
listens mterestngly to the teachings of teachers

- aspeaines D) DRcEre (BEr DI



spends lot oftone in the hibrary
HSomredihod® VNS V&SI K& e

has questioning attitude
v (3808 588 eoarid

prepares well for the examination
$565% e BT
s} o]

Question Number : 45 Question Id : 1525369130 Display Question Number : Yes Is Question

Mandatory : No

The most appropriate meaning of learning is
©3rdT0E JBFE E-iéﬁaaﬁ:oéﬁ

Options :
Inculcation of knowledge

szl ?““..é)%

Modification of behaviour

(BB &=
2. ¢

Personal adjustment

sr8ne Stocmen
3.% % =

Acquisition of skills

e DEnarsd
[ o ;’h;
4. %



Question Number : 46 Question Id : 1525369131 Display Question Number : Yes Is Question
Mandatory : No

For which purpose achievement tests are commonly used?
TS uJE':"‘rs.:«ESJ FoSoT & aa@ 08 TEm%?
Options :

To make selections for a specific job
@’f@ﬂ’aﬁﬁ% ﬁrSE‘*rF“"E Jod¥ AchwrDl

1.%
To select candidates for different courses
D& ?"t”:o o o Eﬁ:)@.:%. D00 Toh=D8
2. %
To identify strengths and weaknesses of students.
. Do nero HBH peirdse 1Bo=RE
3. o
To identify the amount of learning
oifdae :%Po.am oBoUER8
4.

Question Number : 47 Question Id : 1525369132 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is the highest level of cognitive ability?
So2oB TEE” DB ARSI ErERE FHYEn?
Options :
Knowing

- BeonESd



Understanding

@gm AP bIZR V1N
2. ®

Analyzing
DERoH

Evaluatmg

Soorerro X850
4. =

Question Number : 48 Question Id : 1525369133 Display Question Number : Yes Is Question
Mandatory : No

A good teacher is one who
X DS aFErcing Q5808

Options:
gives useful mformation
SHErN L0 L STl ab.m =8

explains basic concepts to students
STEE rddey DEBodhTd

2. ®
gives printed notes to students
- &)w*éz@ o)) wond & 1..:::.1%3 BT

mspires smdents* to learn

e s ) ww*&m«“m ﬁﬁaﬂaaé Fopl Ay
4.« -



Question Number : 49 Question Id : 1525369134 Display Question Number : Yes Is Question
Mandatory : No

"‘Operation Black Board’ is concerned with

‘SHoRD L:Eﬁﬁg‘ 528 Yonodolsd.
Options :

Pre - Primary Education
Tl el D

L&

1. %
Primary Education
8L O

2. ¥
Secondary Education
Syl Qe

3. W’ =) o
Higher Education
aHE D

4. % i

Question Number : 50 Question Id : 1525369135 Display Question Number : Yes Is Question

Mandatory : No

Ifarequired teaching aid is not available in your school then what you will do?
LSS T UL H FbTes® T8 A3 TxH?
Options :
Inform the students about the non- availability of the aid
Depie FETHESn0 BER BO S

1. ®

2. ¢



Bring the aid from nearby school
BEE° e S8Tetrol FPETFHESmER) B

Ask the headmaster to purchase the aid

ST DL FBD (BT rrcind) ofibes

3. -

Give the oral description of the aid

SPETHE8msn $HB0d STHLormr OSBF
4. %

Mathematics

Section Id : 152536304
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 100
Section Marks : 100

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 51 Question Id : 1525369136 Display Question Number : Yes Is Question
Mandatory : No

AnIntegrating factor of the differential equation (1 + x) & yw=l-x1Is
dv



2.
EJC
1+x
3 %
S
e (1+x)

Question Number : 52 Question Id : 1525369137 Display Question Number : Yes Is Question
Mandatory : No

Roots of the auxiliary equation of £(D)=3D*+16D +

L
=
-
T

Options :
%
o N
3

1. %

- §
5, —

2. % 7
5.
3.¢ 2
5.-3



Question Number : 53 Question Id : 1525369138 Display Question Number : Yes Is Question
Mandatory : No

. N oM
The Integrating factor of — ———=Mg(») is
CX cy

oN M

= Mg (y) Goo¥) Sl Heedsn

ox oy
Options:
Lad
1.4 ¢
J g(x) dx
e
2. %
1
My
3. % '
|
Nx
4. %

Question Number : 54 Question Id : 1525369139 Display Question Number : Yes Is Question
Mandatory : No



i o ch .
The linear equationinu of == _ yp = x21° 1S

dx
u &t ——ﬂ — x y ¥ QLSS HEnEB@o
dx g
Options :
du 3
—+xy=—y
dx
1. W
du
— iy =y
dv
2. ® '
du 3
—+uy=—y
v
3. ¢
du
——uy = 1
4. % b

Question Number : 55 Question Id : 1525369140 Display Question Number : Yes Is Question
Mandatory : No

. | . dv ]
The solution 3 = . transforms the equation d_ +Py=0y" into
IP’il_ “ e w
. Ix

| dy
U=—— (H8g5n oo d—+p1 —Qy" @oo¥) Srarosio
-1..

L)

Options :



d—hf +(n—D)Pu=mn-1)0

x d
du
—+({(1-n)Pu=(1-n)Q
dx
2. &
ﬁ+{{:ﬂ'+1)4t'3n =(n-10
dx
3. %
@+ (1-n)Py=(1-m)Q
dy
4. %

Question Number : 56 Question Id : 1525369141 Display Question Number : Yes Is Question

Mandatory : No

: _ dy .
The general solution of y=xp+p~. p :f_- is
ax

2 dy
y=xp+p .p= E Go¥) oo FEE

Options :
2
V=cx+c
1.4
2
y=¢cy+c
2. %
c
|.1~: "
(1+x)°



yp=x+1

Question Number : 57 Question Id : 1525369142 Display Question Number : Yes Is Question
Mandatory : No

Wronskian of the function y, (x) =& @70%, 3, (x) = 07

vi(x)= FAHBE Vy(x) = I S cire o) TR

Options :

e™(2ia)

e ™ (2 ib)

2_ 4

e?® (=2 ib)
3. %

—2ib
4, %

Question Number : 58 Question Id : 1525369143 Display Question Number : Yes Is Question
Mandatory : No

In integrating factor of the differential equation y Y+ (x2 —xy— ,1'2) dy=0

2 2 2 i 5
yode+(x" -3 ) dy =0 e5bedoh $&E8mo @on¥) o8 Wlres el

Options :



B o
- y(x“+y7)
2
.1I
.
.T_—.ﬁij’—_1’
2. %
Xy
3 7
Lk X
1
2
4w y(x=—=y7)

Question Number : 59 Question Id : 1525369144 Display Question Number : Yes Is Question
Mandatory : No

dy y 7
- e - . 2_6;
A solution of the differential equation —+-—=x"1" 1s
dx x
fj-ll‘ . ‘1, 3 6 o £ ~
—+==XT) ool dDoE8ndn Gng ol S8
% ¢
Options:
& e
S5xyv 4o xy =2
1.¢
75
IxTF +u x3_1-*5 =2

g 9. 5
ax _1-‘3 + ¢ .1*2_1-‘ =3



Sxyt eyt =2

Question Number : 60 Question Id

Mandatory : No

1
(D+2)(D-2)

Options :
X
1. % 4
¥
2. 4
s
x
2
3. % -
X
2
4, %

Question Number : 61 Question Id
Mandatory : No
|

5 SIN 2x =
IF—=)=7

Options :

1. %

: 1525369145 Display Question Number : Yes Is Question

: 1525369146 Display Question Number : Yes Is Question



2. %
SN 2% 3Cos2x
16 20
3. %
cosZ2Zxy 3smZx
20 20
4.

Question Number : 62 Question Id : 1525369147 Display Question Number : Yes Is Question
Mandatory : No

The particular integral of (D° —4D?)y =5 is

(D3 _45}2)_1: =5 mﬁ;@’: “5*-4 RarEed

Options:
5
—=
1. % §
=
X
3
2. %
5 9
=X
3



2

-5
—x
4. & 8

Question Number : 63 Question Id : 1525369148 Display Question Number : Yes Is Question
Mandatory : No

1 3
2 =
I g |
Options:
: SO,
X 3% 46
1. %
x3—3r2+6
2. %
¥ =
¥oE3Ix e §
3. W
4 % x +3x+6

Question Number : 64 Question Id : 1525369149 Display Question Number : Yes Is Question
Mandatory : No

Particular integral of (D> —3D+2)y =¢" is

-

55 RDarXed

(D* =3D+2)y=¢" ¥ (¥

Options :

X
1.2 €



2. %
xe"
3. %
X
—xe
4.

Question Number : 65 Question Id : 1525369150 Display Question Number : Yes Is Question

Mandatory : No
, ; d*y dy .
y=x1sasolutionof ——+P—+Qy=0 if
dx? dx

2

d 1y

':J”Df + 0y =0 %, FF8 ¥ = smreod
dx ~ dx -
Options :
1. % P+Q:0
=

, » * TSR
3 % P+0+1=0

_P_QZO
4, #

Question Number : 66 Question Id : 1525369151 Display Question Number : Yes Is Question
Mandatory : No



dy . sy .
If y=0 and —=4 when x=0. then the solution of the differential equation

kY
d—j—"d—1+‘i1 018
dx-  dx
dy i d’ i

v=0 oasksts =0, 2 = 4 wond, kel shkdmo 2 ~2% +5y=0 @b

" ) At dx ¥
FED
Options :

y=2e" sin 2x
1.4

i ¥
y=e*sin2x

2. %
T -
y=2e" sin x
3, %
v =e sin 2x
4. % -

Question Number : 67 Question Id : 1525369152 Display Question Number :

Mandatory : No

T : .2 2dy  dy
The general solution of the differential equation ¥~ +x™——=x 18
i Tx
2 2 (]J". (171 "
YV X == ool S8ddno Gnk) b 855
dx dx =
Options :
2
e’ =cy

Yes Is Question



et =cy
2. ¢ '
x:
3% % 9
e =cy
4.%

Question Number : 68 Question Id : 1525369153 Display Question Number : Yes Is Question

Mandatory : No

2
The solution of the differential equation d—l +4y =0 satisfying
dx”

3(0)=1 ¥/(0) = -1is

' ;o= G,ET -
1(0)=1y/(0)=-1 o §EEE —+4y =0 ese’ 50%8m0 &S
dx
Options :
y=—c0s 2x+sin 2x
1.% 7
-3 .
y=—C08 2Zx—Sm2x
2
2. %

L »
¥ =—C0s 2.?—;5111 2x

ey

4.+



1 .
y=C0S8 2x —551112:;

Question Number : 69 Question Id : 1525369154 Display Question Number : Yes Is Question
Mandatory : No

When y(0)=-1 y'(0)=3. if y= f(x)e™ + 4¢" is the solution of the differential
equation

dy d
L34 e f)+4=

de’  dv

3(0)=-L 1'(0) =3 eawkidid, v=f(x)e" +de" ©ab eibe $d¥dmo

d*y  dy
ek =46 8 358 wovd f(+
dy=  dx
Options :
0
1. %
3
2. %
1
3.
2
4, %

Question Number : 70 Question Id : 1525369155 Display Question Number : Yes Is Question
Mandatory : No



. . . . dy .
The solution of the differential equation 2xy— = y* - 2x’ when y)=21

dx
. T W T
¥(1) = 2 wondyh, el Sdidno 2xy—— =y —2x ¥ P
dx g
Options :
%
v+x~ =3x
1.8 7
- e
Yo +x =5x
2. ¢
P’ +x=5x
3. %
y+x=3x>
4. %

Question Number : 71 Question Id : 1525369156 Display Question Number : Yes Is Question
Mandatory : No

The perpendicular distance of (3. —4. 1) tothe plane x+y—z+7=01s

1+ y-z+7=0 808 (3, -4, 1) Gn¥) vontirdsn

Options :




Question Number : 72 Question Id : 1525369157 Display Question Number : Yes Is Question
Mandatory : No

If the plane x+ 2y -kz+3 =0 is perpendicular to the lme whose direction ratios are 2,
4,3 thenkis

1+2y-kz+3=0 doin 2, 4, 3 630 %o Do vovorr #od k denis

Options :
=
O
7y
e
1. %
=
3
2
2.9
o
s
Y
2
3. %
£
B
3



Question Number : 73 Question Id : 1525369158 Display Question Number : Yes Is Question
Mandatory : No

[fthe equation 2 ¥ N yz + 5=y + vy = ( represents a pair of planes, then the
angle between them s

2 2 - e e Ve = b
i 1'2 227 —yve 4 Sex by =10 m@ﬁb:&é&: Both serof wr@J“f-.'r_Oﬂ =E &ﬁﬁa B aa0

Options :

T

Question Number : 74 Question Id : 1525369159 Display Question Number : Yes Is Question
Mandatory : No

The equation of the plane through (2. —3. 1) and normal to the line joming of (3. 4. ~1)
and (2,-1,5)1s

(2, -3, 1) Dotssy thome e (3,4, —1) S8k (2,-1, 5) o %ensy By vonsre
Ko Sodn %) 58058

Options :

x—5v+z=19

1. %



2. %

x+5y—-6z=-19
3. ¥

x—5y—6z=-19
4. %

Question Number : 75 Question Id : 1525369160 Display Question Number : Yes Is Question
Mandatory : No

The equation of the plane through the origin and containing the line
¥=3y+2z43=3x-y+2z-5 18
e Do) trePde -3y +2:4+3=3x-y+2:-5 Do L0AS oy Gw¥)

D&% Beesn

Options :
1 1X-9y+8z=
Tx+9y—8z =
2. % ‘
Tx+9y—-8z=0
3. %
Tx—9y—-8z=0
4. % '

Question Number : 76 Question Id : 1525369161 Display Question Number : Yes Is Question
Mandatory : No



The length of the shortest distance between the lines

x+3 y+7 z-6 x-3 y-8 z-3
— i ] — 16
—1 1

I
tad
(3]
s
[

x+3 y+7 z-6 x-3 y-8 z-3 .
—= = = = oo & ou) SR8 8S
-3 2 4 3 -1 l B

1. %

24/30
2. %

34/30
3. %
L w 5330

Question Number : 77 Question Id : 1525369162 Display Question Number : Yes Is Question
Mandatory : No
The shortest distance betweenthelines x=-2y=zix=y=z I8
x==2y=zix=y=z 3¢ Sow Sk 5@-?’.&:}1 Bre85m

Options:
3
1. %
4



Question Number : 78 Question Id : 1525369163 Display Question Number : Yes Is Question
Mandatory : No

2 2

: 2 .
Centre of the sphere 2x” +2y" +2z" =x+y+z 8

q

2 2 2 S, =5
2" +2y" +2z" =x+y+ 2z ¥ SolBsw

Options :
[ill
.33 3,
1. %
(111)
Lo \474'4)
[”li_l“
2. 2 4
3. %
0
4, %

Question Number : 79 Question Id : 1525369164 Display Question Number : Yes Is Question
Mandatory : No

Equation of the sphere with centre origin and radius 2 is

sore Dotnde BolBsm SHBakn ﬁ;%é&é:: 2 e o ¢ SE8msm



Options :

T .
X +y 7 +xy+yz+2x=0
1. %
2 - i
S w X +yv +z7 =0
3 .3
X“ 4y 42" =2
3 %
¥ o 3
x +¥ +z =4
4.

Question Number : 80 Question Id : 1525369165 Display Question Number : Yes Is Question

Mandatory : No

' y
‘ - : - ~ 2 dy | .
General solution of the differential equation y+xp=x"p l p= a'_ 19
\, X .
b =5
ol¥od S¥8no Y+ =x"p° | p=—| & Frdn FE
dx
Options :
2
XxX=cx+cy
1. ®
2
xy=cx+c
2.%
)
xy=ec+c°y

3.¥



5
y=cC€z+ C’-_Iz

Question Number : 81 Question Id : 1525369166 Display Question Number : Yes Is Question
Mandatory : No

The particular solution of the differential equation

7 d V dy .
X——-2x—+2y —131,05‘1( 0) is v=
(fx‘z dx '
d*y dy
eided $Dk8no 12—2—21—+21 = mjcosx(r >0) 8 985 88 v =
dx dx - :
Options:
XSIN X
1. %
—XSIN X
2. %
XCOSx
—XCOS X
4. &

Question Number : 82 Question Id : 1525369167 Display Question Number : Yes Is Question
Mandatory : No

2

Theradivs ofthe circle x* + y* + 2% +2x -2y +-42-19=0, x+2y+2:+7=01s

S x* 4y 4274 2024 42-19=0, x+2p+2:+7=0 Do) Sl



Options :

¥
1. ® =
2@ O

4
3. %

5
4, ® T

Question Number : 83 Question Id : 1525369168 Display Question Number : Yes Is Question
Mandatory : No

Everysection ofa right circular cone by any plane perpendicular to its axis is

L& e Sognd &0;5&[ D650 D20 dodn 78 © egol vdvonore aRpd

Options:
a cone
2.8 domnd
1. %
a sphere
o & B
2. %% [ Iﬁbdm
a circle
K &
S a%‘_é;wl
3. ¢

4. %



Question Number : 84 Question Id : 1525369169 Display Question Number : Yes Is Question
Mandatory : No

The radius of the circular cylinder having for its base the circle

2 k. 2 -
X Ey L =8 xeykesd

2 2 ) LT
¥+ 42829, x—p+2=3 )85 errbore $DAS Se drilin @) e

@ vy g

Options :

J3

1. %
J6
2. ¢
J9
3. %
4, % V7

Question Number : 85 Question Id : 1525369170 Display Question Number : Yes Is Question
Mandatory : No

The general solution of the differential equation —=——=—1s

dc dv d:

oBked $8no ——=——=—— & &S
Yy Z°x yx
Options :
2 : 3., .3
x4+ 2 =¢. V +I =0,



2 2 2 3 3
Y +Y =L X +Y +2 =6
2. %
2 2 3
1__12_: :{-‘1 Tj_-'r _:3:{7
3. % )
s 2 3 3
X —V :F]. Yy —= =5
4, ¢ -

Question Number : 86 Question Id : 1525369171 Display Question Number : Yes Is Question
Mandatory : No

The equation of the plane passing through the intersection of the planes
Tx+y-2z=11, 3x+y+2z=35 and perpendicular to the plane x-2y+z-1=01s
Soren Tx+y-2z=11 3x+y+2:=5 © Febo thom & x-2y+2-1=0
$e=08 vomorr &%) dvo ¥Edmo

Options :

X+¥y+z=3

2x+2y4+22=73

2. %
S
3. %
o e =8
4 2x=-2z=3

Question Number : 87 Question Id : 1525369172 Display Question Number : Yes Is Question
Mandatory : No



Number of subgroups ofthe group (Zg5.+93) 18

(Zg3.+93) Re0rdein Eny) ddsrrsrine Sogy

Options:
1.4 1
6
2. %
9
3. %
4= 10

Question Number : 88 Question Id : 1525369173 Display Question Number : Yes Is Question
Mandatory : No

6" |
The generators of the group G=—:neZ J are

7 L
JHrSsn G=s—neZ; @o% =58 Sresddoe
7 ] -
Options :
1
L=
1. % 6
1
3-\. T
6



Question Number : 89 Question Id : 1525369174 Display Question Number : Yes Is Question
Mandatory : No

If a group is abelian, then ¥ a.b

- -

H[orEsrdn HNDSHE LondHp® ¥ a.b

o,

Options :

(ab)*=ab

(ab)? =a® b?

2. %
(a by =a’
3. %
2 _ 32
L x (ab)” =b

Question Number : 90 Question Id : 1525369175 Display Question Number : Yes Is Question
Mandatory : No

If Gisafinitegroup of order n, thenfor a G
DS Doy G Tw¥) (Edsin n wonddpt B8 G D



Options :

g=]
1, %
> % =&
ﬂ}?—é‘
3. o
g s
4. %

Question Number : 91 Question Id : 1525369176 Display Question Number : Yes Is Question

Mandatory : No

Let Hbea subgroup ofa group G such that 0(G) =36 and 0(H) =4. Then 0(G/H)
0(G) =36 %80k 0(H)=4 edye Samesn 66 Hof ofecn assims

oo, eyt 0(G/H)=

g
*

Options:
9
1.¢
=
5 % 12
5
_ 24
36



Question Number : 92 Question Id : 1525369177 Display Question Number : Yes Is Question
Mandatory : No

15457 =
Options :
-2
1. %
-
2. =
—3
3. %
3
4. %

Question Number : 93 Question Id : 1525369178 Display Question Number : Yes Is Question
Mandatory : No

The number of automorphismofthe group Z; 1is

Zs BB Enst "n’;ﬁﬂoeﬁb@; Braisde E’:fos:;;

[¥]

Options :

N

1. %

2. % 1
=

3. ©



Question Number : 94 Question Id : 1525369179 Display Question Number : Yes Is Question
Mandatory : No

(G.+) 1s a finite abelian group of order

5BE HDDGHS S (G, +g) Gk (B

Options :
.l'}
1.% 7
2. % 7
5
3. %
4. .

Question Number : 95 Question Id : 1525369180 Display Question Number : Yes Is Question
Mandatory : No

The order of 91in Z;5 is
Z, €% 9 Go¥) (Koo

Options :
¥
(R
2.9 4
6



12

Question Number : 96 Question Id : 1525369181 Display Question Number : Yes Is Question
Mandatory : No

The point of intersection of the line 1 772 273 andthe plane

1 -1

[

x+2y-z=518

o i) -1
Y2773 e X+2y-z=35 8vo o poiis oy
l =1 2

5840w

Options :

(1.2, 0)

Question Number : 97 Question Id : 1525369182 Display Question Number : Yes Is Question
Mandatory : No

If /=(2341) isapermutation ofdegree 5. then 7! =

£=(2341) o.% 58818 (HXE50 wonsdpd 71 =

Options:



1. %

(1432
2. %

i3 & )
3. %

231 4
4, %

Question Number : 98 Question Id : 1525369183 Display Question Number : Yes Is Question
Mandatory : No

The number of generators of a cyclic group of order 8 is

8 (E&osore He QJLEO‘J, SSorsran Gwl) wdE reste Sogy

Options :
7.

1.% 7
3

2. %

3.¢ .
5

4, %

Question Number : 99 Question Id : 1525369184 Display Question Number : Yes Is Question
Mandatory : No



The number of even permutations in 0(S)=4 is
0(S) =4 Goo¥) 3B (Hardsime Dogy

Options :

12
1.¢

4. %

Question Number : 100 Question Id : 1525369185 Display Question Number : Yes Is Question
Mandatory : No

A cyclic group having only one generator is

2B 28 @Rl Soreldn 20A% HBad Jdueisn

Options :



Question Number : 101 Question Id : 1525369186 Display Question Number : Yes Is Question
Mandatory : No

The radius of the great circle of the sphere x” + .1'2 42—l +10y-6:-11=01
%0 x°+y” +2" —4x+10y—-6z-11=0 G 18 §)E a=go
Options :

7
1.4

Question Number : 102 Question Id : 1525369187 Display Question Number : Yes Is Question
Mandatory : No

e JB)
Fora=>0.b>( lm [ =
x>0\ X/

,

. ;’E}"-_}
a>0.b>0ex lim H_J B

‘II.-_}D_!_ LY .T ) (ir

Options:

2



Question Number : 103 Question Id : 1525369188 Display Question Number : Yes Is Question
Mandatory : No

i
.ox +1
lim =
X—C X
Options :
1 % o
2. % 0
3.¢ ]
2
4, %

Question Number : 104 Question Id : 1525369189 Display Question Number : Yes Is Question
Mandatory : No

1 5 ol op o .
fx)= has infinite discontinuity at
X—a
- 1 e
s f(¥)= T, SS0DE DY EOA woinod
Options:
=4

1. %



2. ®

X=a
3. ¢
4, 8 X =8C

Question Number : 105 Question Id : 1525369190 Display Question Number : Yes Is Question
Mandatory : No

The directiveof f(x)=x".x>018
f(x)=x". x>0 o) ke
Options :

- (1+logx)x

(1+logx)x"

g % 1F log x

4 % logx

Question Number : 106 Question Id : 1525369191 Display Question Number : Yes Is Question
Mandatory : No

1' = } diverges to
j n
i

Options :



[+J

Question Number : 107 Question Id : 1525369192 Display Question Number : Yes Is Question
Mandatory : No

L HIX
1 )

i ] 19— =

H— 00, i r'

Options :
&
1. %
X
2. ¥ €
x
3. %
[+ =
4, %

Question Number : 108 Question Id : 1525369193 Display Question Number : Yes Is Question
Mandatory : No



H ¢l

X : 1+l
If a, ———m 21 2+0 then Im —
F—C

1 a,
4 a
X : n+l
a, =—.nz1 x#0 oanddnid by —5
TN o now a,
Options :
1. % 0
e
2. %
I
3. %
4.9 %

Question Number : 109 Question Id : 1525369194 Display Question Number : Yes Is Question
Mandatory : No

q

. : . . dy dy el
If the particular solution of the differential equation —-~8-—-+9y =8sin5x 1s

> dx
y=Acos5x+ BsinSx. then29(244B) =

& vy dy . ) T

e Ba%mo ——8—+9y=8sin5x8 y= 4cos5x+ BsinSx (Ha% Srbed

dy=  dx i

oawd 29(24+B) =

Options :
8

1.¢
6



Question Number : 110 Question Id : 1525369195 Display Question Number : Yes Is Question
Mandatory : No

In Taylor theorem, the Lagrange’s form of remainder 1s
Bob verodne®™ Birrod drebin &) CEoElaboy
b4
Options :
R R
a f(c)

1 % 7

b—a)f"(c)

2. % £

(b . ”]H fﬂ (f‘)

7!

f" ()

!

Question Number : 111 Question Id : 1525369196 Display Question Number : Yes Is Question
Mandatory : No



The value of ‘¢’ from Cauchy’s mean value theorem for f(x) = \/; and

:T ]11[{? b][]{ﬂ'abl‘i

\/_' S gl \/—- [ab]Ocn b[a:rb]{]{mbv‘*6 g ey

E}Q

msoééx %08 ¢’ cﬁwﬁ;_ Dend

Options :

| % ab

2v VP
3. %

4. %

Question Number : 112 Question Id : 1525369197 Display Question Number : Yes Is Question
Mandatory : No

Ifthe function f(x)= v (:r2 ~1).0 < x <1 satisfies Rolle’s theorem, then the value of

"¢ IS
fl)=x(x-1).0< v <] (ghohisn &8 brpodios ERHEY eipt ¢ @,
Densd
Options
1
1. % 2



I\.'.I|l—-

1
2
3. %
1
J2
4.

Question Number : 113 Question Id : 1525369198 Display Question Number : Yes Is Question
Mandatory : No

1

J‘ xe' dx=
0
Options:
0
1. #
1
2. ¢
o)
3.% ©
_
4. % 7

Question Number : 114 Question Id : 1525369199 Display Question Number : Yes Is Question
Mandatory : No



Norm of the partition P= {0, .25..75. 1, 1.5. 1.75, 2} is
P={0,.25,.75,1, 1.5. 1.75, 2} ®zriisn G =5

Options :
0
1. #
q
2. ® 25
5
3.¢ 7
4, ® :

Question Number : 115 Question Id : 1525369200 Display Question Number : Yes Is Question
Mandatory : No

If the spheres x° + J‘z g =Py 4y+6z-3=0 and
21" + 2.1'2 P ky —8z—4 =0 cut each other orthogonally, thenk =
Few 1 +,11’2 iz —2x—4y+62-3=0:00d»

2 2}-2 1 i ky—8z-4=0 %8 %0 womorr poloEol, k=

Options :
5 % —135
—6



I
L

Question Number : 116 Question Id : 1525369201 Display Question Number : Yes Is Question
Mandatory : No

The pole of the plane 2 - 3y+4z -8 = 0 withrespect to the sphere x* +° +z* =16
5
o x'+y +27 =16 S5 Swo 2r-3y+4:-8=0 Gn¥) o

Options:

(2, 314
, ., (4.-6.8)

R By

(—4.6, —8)

Question Number : 117 Question Id : 1525369202 Display Question Number : Yes Is Question
Mandatory : No

2 (??2 ; 1
IfD“J‘:—;.then —(x* —x+2) =
dx 1+
2
.- 1 .
.D‘z‘l :d ) BONS, - (xz—x+2):
dx* 1+ D?



Question Number : 118 Question Id : 1525369203 Display Question Number : Yes Is Question
Mandatory : No

Boolean ring characteristic is
2rOAHS Socho Ewl) oEBEd

Options:
2

1.¢ =
3

2. %

3. % {

4, % 4

Question Number : 119 Question Id : 1525369204 Display Question Number : Yes Is Question
Mandatory : No

Number of zero divisions in the ring ( Z;,.+.¢)1s

(Z£y2.+-) S0kt Srérrrace Sogr

o =



Options :

5
’|_$’$

"
2. 1
3, % 9

11
4, %

Question Number : 120 Question Id : 1525369205 Display Question Number : Yes Is Question
Mandatory : No

. . 3 L
IfRisaring suchthat ™ =a, Vae R.then a+a =

-~ 2 B - i _
R Sechos®a” =a.VaeR ety woll olpd at+a=

Options :
L, a
1. %
, % 2d
1
3. %
4. 0

Question Number : 121 Question Id : 1525369206 Display Question Number : Yes Is Question
Mandatory : No



The equation of the cone with vertex at (1. 1. 0) and guiding curve +* + .]._2 =, =14

(1,1, 0)5% 8o bk x” +° =4, z=13 S0 7588 {go (guiding curve)
Ko oz $8%8mo
Options:
X7+ 37 =227+ 2y0+2zx —2x—2y—4z+2=0

1.4

2 2 % x :
X +y =227 +2yz+22x—4x—4y+4=0

2. %
X . ;
xz+1“+2:‘2—21-‘:—2:1'+2x—21-'+4:—2={}
3. % : : .
2 2 2
XT4+y 422742y -2zx+4x -4y +4=0
4, %

Question Number : 122 Question Id : 1525369207 Display Question Number : Yes Is Question
Mandatory : No

Number of associates of @ +ib in the Gaussian integral domain is
TR05HS gropod (38806% a+ib So¥) SsFdtoe Sogy

Options :
1. # 1

2
2. ®

3. v 4



h

Question Number : 123 Question Id : 1525369208 Display Question Number : Yes Is Question

Mandatory : No
Let G be a group oforder 40 and ¢ € G such that 0(a) =8 . then 0(a™*) =
2.8 S0 @) 88K 4080 a€G 8 0(a)=8 swd ((a™)=

Options:

3

-2

Question Number : 124 Question Id : 1525369209 Display Question Number : Yes Is Question
Mandatory : No

The units of (Z;.+4. X¢) are

(Zg.+g. Xg) Goo¥) chooeQe0)

Options:
2,3
1. %
1.2



—_—
' ]
h

Question Number : 125 Question Id : 1525369210 Display Question Number : Yes Is Question

Mandatory : No

[fa binary operation “*’is defined on the set 7, of all mtegers by s *pn=m+n—5forall
m,n € Z , then the mverse of *7” in the group (Z.*) 1s

Fro=ef)d S8 7ok dof) 588 Z &, (38 mn el m*n=m+n-5m
N0, Sdmiro (1.Y) 6 T @n¥) 960

Options :

1.+

17

hn

12

Question Number : 126 Question Id : 1525369211 Display Question Number : Yes Is Question

Mandatory : No

The characteristic of thering Z;y x Z;5 13

Lo X Zre S030%00 GnE erXhXes
10 is - ey

Options :



1. % )
2. ¥ 30
3 % 10
4, % 3

Question Number : 127 Question Id : 1525369212 Display Question Number : Yes Is Question
Mandatory : No

The equation of the right circular cylinder whose guiding curve is the circle passing
through the pomts (1, 0,0), (0,1.0) and (0.0, 1) 1s

fotoihen (1.0.0). (0. 1..0) o0t (0.0, 1) oowe &4 H)do AT8S (o (guiding

o

curve) e o ©ow é&%@f& RV Avelehle

@
Options :
2. B B
L w TEYTAE +xy+yz+zx+1=0
- ..
s X Y AT —Xy—yi—z 1=0
R
Xy Fz xvrysves—1=0
3. %
2
X+ yi4z? —y—yr—zx+1=0
4.$3 9 - .

Question Number : 128 Question Id : 1525369213 Display Question Number : Yes Is Question



Mandatory : No

If £ =xy’7 +2x%yz 7 =3yz> k .then div £ at(1. —1.1)is

f=xvti +2x%y2 T =322 k oonddped (1, -1, 1) aﬁt@ﬂdﬁ'f Qe
Options :
1. % 6
—6
2. %
-9
3. %
4. 2

Question Number : 129 Question Id : 1525369214 Display Question Number : Yes Is Question
Mandatory : No

Let G be the group of 4™ roots of unity under multipication and fis the group
homomorphism from the group (Z.+) to the group by f(n)=(j)" forall nZ . then
ker F =

Koeako tﬁE/% | @) 45 e Somiro G ooptd H8din S0 (Z,+) Kol

58P0 (G,) % o S508rs8 50, ©6 nel, f(n)=(i)" e W0, ker F=

"

Options :
47
1.¢
37
2. ®



Question Number : 130 Question Id : 1525369215 Display Question Number : Yes Is Question
Mandatory : No

If the permutation (13 5) 0(13 7 5) 0(6 8) 0(2 3 4 5) in the group (S;.0) can be
expressed as a product of 7 disjoint cycles, thenn =

im0 (85,0060 (5280 13.5)0(1375)0(68) 0(2 34 5) m e 388w eporr

<
=8, n =
Options:
1. % 1
2. % 2
3.¢ 7
4.% 4

Question Number : 131 Question Id : 1525369216 Display Question Number : Yes Is Question
Mandatory : No

The number of generators of a cyclic group of order 33 is

8s5oeteo 33 e Ko é@% NeoreFER8 adidros Sogr
=

eh

Options :

i
Lo 20



18

Question Number : 132 Question Id : 1525369217 Display Question Number : Yes Is Question
Mandatory : No

Number of elements in the alternating group (4¢.0)1s
SEoro (4.0) 6% Sresee Qogy
Options :

36

1. %

180

720

Question Number : 133 Question Id : 1525369218 Display Question Number : Yes Is Question
Mandatory : No

Inthe group G = {1,2.3.4, 5.6} under multiplication (.{;) modulo .. (5.X, 6)™" =
Tmiore tomko (X;) g Ssmro G={1.2.3,4.5.6} & (5.X,6)" =

Options:



Lh

1. %

2. ¢ 4
2% O
4% 2

Question Number : 134 Question Id : 1525369219 Display Question Number : Yes Is Question
Mandatory : No

In R®,if U=L[(12.1).(0.1.2)] and 7 =L[(1.0,0).(0.L1.0)] thenabasis for 7\

B
R & U=L|(12.1).(0.L.2)] %805 7 =L|(L0.0).(0.10)] wond
UNW & o.% spedsn

Options :

((1.3.0)}

{(2.3.0))
2. ¥

{(2.1,0)}

1(1.0.3)}



Question Number : 135 Question Id : 1525369220 Display Question Number : Yes Is Question

Mandatory : No
If o = (1.-2.5)1s vector that can be expressed as s linear combination ofthe vectors
e =(LL1).e; =(1.2,3) and ¢; =(2.-1.1) then ¢ 18
=(1,-2.5) o% 2680 ¢ =(LL1),e;, =(1,2,3) 205w €5 =(2,-1,1) {880 awe

v

So@rHor (] e o =

Options :

s P T oy
1 ¢ 6‘&1—!-3{:.’-24'563

5 % 6?1_.382"‘2!?3

4, % - .

Question Number : 136 Question Id : 1525369221 Display Question Number : Yes Is Question

Mandatory : No

. 113
If f(x)=x forall x€[0.1] and » = 01511 then U(p. f) =
i ' 113 :
6 xe[01] & f(x)=x" oot p=|0 777 o8 Ulp.f)=

Options :
15




16
15
32
3. %
15
64
4. %

Question Number : 137 Question Id : 1525369222 Display Question Number : Yes Is Question
Mandatory : No

The rank of the transformation 7: R* — R’ defined by I(x,v)=(x+p,x=y,¥)is

T:R >R oo 96588 T(x,)=(x+7.x-y.y) eR 869 T Gk 8

e . b - =

Options:
1

1. %

Question Number : 138 Question Id : 1525369223 Display Question Number : Yes Is Question
Mandatory : No



IfT:R® - R is a linear transformation defined by
T(x.y,z)=(xcosf - ysing, xsin6+ ycosd. z). then the kernal of T is
T:R - R onewdds88% T(x,y,2)=(xcosf - ysinb, xsinf+ ycosf,z) re
& Solpts T Gd) B0
Options :

i
101
1.¢

i

2. %
2

3. %

4. % i

Question Number : 139 Question Id : 1525369224 Display Question Number : Yes Is Question
Mandatory : No

If T and T, are linear operations on > and T;(v. y) = (v.—x). I (x. ) =(1.0) then
G L-LT)(xy)=

T, %8 Too R* 3 awe 35888 oow Ti(x,3)=(3,-x). T(x.y)=(3.0)
soB eyt ([1,-5, 1) (r.))=

Options :
(x.»)
1. %
(x.—v)

2.¥



(—x.v)

(—x.—v)

4. ®

Question Number : 140 Question Id : 1525369225 Display Question Number : Yes Is Question
Mandatory : No
n 4n

lim » ——=
F—o g i -

Options :
e
1. % 4
T
9,
2. % 7
T
3.¢
4
4, ®

Question Number : 141 Question Id : 1525369226 Display Question Number : Yes Is Question
Mandatory : No



1 2 2
If{2 1 2{=A.then 4> —44-
2
1 2 2
A=|Z T 2| socu® 4 %=
12 2 I
Options :
21
1. %
, % 3l
AT
3_23
51
4,

Question Number : 142 Question Id : 1525369227 Display Question Number : Yes Is Question
Mandatory : No

2 =5 7
If A={—-5 11 -8/ .thenthetraceofA is
8 7 6]
> 5wk
A=|-5 11 -8| ondipidh A Do) ol Jos?
8 7 6]

Options :



1.%
L. 13
L, 19
L —19

Question Number : 143 Question Id : 1525369228 Display Question Number : Yes Is Question
Mandatory : No

Value of the determinant |—h 0 a

0 b —
b 0 a @5555353& 0¥ Densd
c —da
Options :
1.¢ ‘
d
2. %
3. % b
C



Question Number : 144 Question Id : 1525369229 Display Question Number : Yes Is Question
Mandatory : No

=2 i A
Rank of the matrix o A B 15
3 2 3
.-11:"'.’5 = P 5
o 4 | @8 Gk e
Options :
1, % 0
2. 1
3. % -
3

Question Number : 145 Question Id : 1525369230 Display Question Number : Yes Is Question
Mandatory : No

If £(x)= %X _then f'(e 3) =
£(x) =% w8 f'(e?)=

Options :



Question Number : 146 Question Id : 1525369231 Display Question Number : Yes Is Question
Mandatory : No

If x.y are in an inner product space, then ‘(x.y)‘ <

¥, I & w08y $BTosT¥ins® ol ey [(1.y)|<
Options :
|
x|
E
|11
3. ¥
&l
4. %

Question Number : 147 Question Id : 1525369232 Display Question Number : Yes Is Question
Mandatory : No



The unit vector orthogonal to (4.2.3)in R is

R’ &9 (4.2.3) % woosidcsh chrde 964

Options :
(2 1 =2)
\3° 3" 3 J
1. %
(2 -1 —_2]
3 3 3/
2.
L. (2-1-2)

Question Number : 148 Question Id : 1525369233 Display Question Number : Yes Is Question
Mandatory : No

\ S—
If a=(0.-2.3), p :{%‘3.2 } are in an fmer product space R’ then (a.f)=

2 S 5 . .
a=(0,-2,3), ﬁ:(—.?ﬁ © ©oddy $bTodctin R & eod DS
i W
\ & /
(@p)=—_
Options :
=¥



N

Question Number : 149 Question Id : 1525369234 Display Question Number : Yes Is Question
Mandatory : No

If @ =(-10.1). f=(2.0.-2) are in an mner product space ¥;(R) then Ha + ﬁH =

a=(-10,1), =(2,0,-2) e w0 bzodcin V(R) & 0B epd|a+ f| =
Options :
)
1.% 7
V2
2.9
3. % 3
V3
4, %

Question Number : 150 Question Id : 1525369235 Display Question Number : Yes Is Question
Mandatory : No



p

If & :m., f#0and a.BV(R).then a.a =
g:ﬁ_ﬁiﬁ Soddw a,feV(R) ool a.ao=

Options:
1. % g

2
2. % P

1

3.v



